
[image: image1.jpg]“%_ 1. (20 points) The transfer characteristic of an amplifier is given by the following equation:
: Vo=50-50 Vi
Where the output Vo is limited between 0.5 to 10 volts.
(a) Draw the transfer characteristic and find the biasing value for Vo so that the output swing is maximum.
Find the corresponding biasing value for the input.
(b) Calculate the maximum amplitude of the output Vo and Vi.
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[image: image2.jpg]% 2. (40 points) Design a high-pass filter using 741 op-amp., with the following specification:
D :

1. lower cut-off frequency of 100 Hz.
it Passband gain of —100 v/v
iii. Input resistance of 100 ohms

a) Draw the filter circuit and calculate its component values.

b) Determine the bandwidth of this circuit. (hint: the gain-bandwidth product of 741 is 1
MHZ) th}

¢) If two stages of the above filter is used in series(cascade), how much is the passband
gain, the cut-off frequencies and the bandwidth of the combined filter. Frave of
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[image: image3.jpg]“\, . 3. (40 _points) For the circuit shown below, (a) Find the transfer function Vo(jo)/Vs(jo)

(c) Draw the magnitude and the phase of the bode plot of this transfer function on the log-

scaled paper.
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